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QUESTION 1

What are the correct factory default settings when the HP Comware and Provision switches are originally booted?
A. Provision and Comware switches have Telnet enabled.

B. Provision and Comware switches have all Layer 2 interfaces disabled.

C. Provision and Comware switches have default passwords defined.

D. Provision and Comware switches have Layer 3 switching disabled.

Correct Answer: D

QUESTION 2

Which statement is true about the management of HP ProVision and Comware switches?

A. Telnet SSH are enabled by default on Comware switches.

B. Telnet is enabled but SSH is disabled on ProVision switches.

C. Comware switches, by default, store usernames and passwords in a separate configuration file.
D. ProVision switches, by default, store usernames and passwords in a separate configuration file.

Correct Answer: D

QUESTION 3

A network administrator acquires a new HP Comware switch from HP with the factory default settings. The network
administrator logs into the console port and configures the following information: user-interface aux0 quit super
password level 0 simple hp0 super password level 1 simple hpl super password level 2 simple hp2 super password level
3 simple hp3 What happens the next time the network administrator logs into the console?

A. The network administrator is immediately taken to level 3 with no password prompted.

B. The network administrator must enter a password of hp3.

C. The network administrator must perform the password recovery procedure because it was incorrectly configured.

D. The network administrator must enter a password of hpO.

Correct Answer: B

QUESTION 4

Refer to the partial command output:
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[Comware] display link-aggregation verbose bridge-aggregation 2

Loadsharing Type: Shar -- Loadsharing, NonS -- Non-Loadsharing

Port Status: S -- Selected, U -- Unselected

Flags: A -- LACP Activity, B -- LACP Timeout, C -- Aggregation,
D -- Synchronization, E -- Collecting, F -- Distributing,

G -- Defaulted, H -- Expired

Aggregation Interface: Bridge-Aggregation2 Aggregation Mode: Dynamic
Loadsharing Type: Shar
System ID: 0x8000, 000f-e2&7-6céa

Local:
Port Status Priority Oper-Key Flag
GE1/0/3 S 32768 2 {ACDEF]
GE1/0/4 S 32768 2 {ACDEF)

Remote:
Actor Partner Priority Oper-Key SystemID Flag
GE1/0/3 32 32768 2 0x8000, 000f-e267-57ad (ACDEF)
GE1/0/4 26 32768 2 0x8000, 000f-e267-5Tad (ACDEF)

Based on this output, which statement is true?

A. Dynamic LACP is used, and load sharing is functioning correctly.
B. Static LACP is used, and load sharing has failed.

C. Dynamic LACP is used, and load sharing has failed.

D. Static LACP is used, and load sharing is functioning correctly.

Correct Answer: B

QUESTION 5

Switch 1 Switch 2
Layer 2 Switch Layer 2 Switch

User-4
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Switch 1 and Switch 2 are HP ProVision switches operating as Layer 2 switches. VLAN 33 has been defined as the
management VLAN on both switches. Based on this topology, which user devices can access Switch 1 by using SSH?

A. only User-1, User-2, and the Server
B. only User-1

C. all users and servers in the topology
D. only User-1 and User-2

Correct Answer: B
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